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Note : First 15 minutes are allotted for the candidates to read the question paper.
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Instructions : |

(i)  All questions are compulsory.

(if)  Question Numbers 1 to 10 are Multiple Choice Type, for which only correct answer

should be written in the answer-book. Question Numbers 11 to 18 are Very

Short-Answer Type, which are to be answered in about 50 words each, Questi
Numbers 19 to 24 are Short-Answer Type, which are ’ o

150 words each ang Question Numbers 25 1o 2
- 7 are Long-Answer T i
be answered in about 300 words cach. ype, which are to

to be answered in about

(iii) AIlptted marks of all the questions are given against each of them
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(A) Y=C+I+G
B) Y=C+I1+G+X
€) Y=C+I+G+(X-M)

(D) Y=C+I1+G+NX
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(Multiple Choice Type Questions)

Write the only correct answer of the following questions in your answer-books :

1. Which one of the following is true ? When the marginal utility becomes negative : 1
(A) the total utility becomes negative.
(B) the total utility decreases.
(C) the total utility becomes zero.

(D) the total utility will increase but at slower rate.

2. Which one of the following is true ? The total variable cost is equal to: 1
(A) The average variable cost x quantity
(B) The average variable cost / quantity

(€) The margina] variable cost x quantity

D)

The marginal varjable cost / quantity
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- o jon are taken by : 1
3. Inamixed economy decisions related tq production and consumption

(A) The Central government only
(B) The State governments only

(C) The Central and State governments, both

(D) The Public Sector and Private Sector

4. The statement ‘Other things being constant, an increase in money supply will increase

the price level.’, is related to
(A) Normative economics
(B} Positive economics
(C) Micro economics

(D) All of the above

3. Which one of the following is true ? In perfectly competitive market, the :
(A). - Average Revenue (AR) = Marginal Reyenue (MR)
(B) Average Revenue (AR) > Marging] Revenue (MR)
(C) Average Revenue (AR) < Margina Revenue (MR)

(D) Average Revenue (AR) = Togg] Revenye (TR)

JF
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6. Which one of the followin
(A) Gross Investment — Cost
(B) Gross Investment - Depreciation
(C) Gross Investment — Marginal Investment

(D) . Gross investment — Net Profit

7. Which one of the following is false 7 At the time of Independence (1947), one Indian

rupee was equal to :

(A) 4 Four Annas

(B) .2 Eight Annas
(C) 64 Paise

(D) 100 Paise

g is true ? Netinvestment is equal to 1

1

8.  Which one of the following expresses ‘National Income Identity’ for a closed economy ? 1

" (A) Y=C+I+G
B) Y=C+I+G+X
€) Y=C+I+G+X-M)

(D) Y=C+1+G+NX
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account in palance of

9. Which one of the following is not a component of capital

1
payments ?

(A) Foreign debt

(B) Foreign investment

(C) Foreign remittances

(D) Foreign aid

10. If the National Income (Y) of a country increases by ¥ 100 crores. and the National

Consumption (C) increases by ¥ 80 crores, then the Marginal Propensity t0 Save will be

equal to : !
(A) 0.2
(B) 0.8
<y 20
D) 8.0
(e Y-t )
(Very Short-Answer Type Questions)
1. ‘I=F@ qeegan
5%, I Tt T e wee § 1 s iR | 3
11. “Higher indi
Higher indifference curve represents higher leve] of satisfaction.’ Explai
.- bXplain. 3
12, E g et et g g if |
-3
12.  Differentiate betw |
een Normal goods and j
hferior goods.
3
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(3. What are different means of production and the rewards given to them ?

4 mmmmaﬂh@maﬁwwﬁmﬁmﬁmwm

14. Describe three factors that affect the supply C“Wé'éf a firm.

5, SR WA G R, afah dt o A a7

15. What is the relation between G.D.P. at market price and G.V.A. ?

16. ‘st AR frg R R @ 7 3

16. What is called point of ‘effective demand’ ?

17, S a9 % Tore o’ 3R Ioit =’ 1 g i | .

[7. Differentiate between ‘Revenue Expenditure’ and ‘Capital Expenditure’ of government

budget. | .
1 X |
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hat are the different factors that affect the supply of foreign exchanae 7 ;
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(Short-Answey Type Questions)

19, mwﬁ,uﬁwwﬁmmm:a?a%ﬁmaﬁf%ﬁmwﬁﬁul

. - . [ . \v'
19. Explain the law of diminishing marginal rate of substitution in indifference curves, with

the help of diagram.

20. 390 3T (AR), ¥AT AT (MR) T et TR (TR) =6 ST I |

20.  Explain the Average Revenue (AR), Marginal Revenue (MR) and Total Revenue (TR). 6

21 aeg-fafie yomett # 9R Ul w1 9ui i | 6
21.  Desenbe four demerits of barter system. 6
22 T Tafan o § o reaae o gudh) e i R 7 6
22, Whatis autonomous investment and what is its role in the economy ? 6
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23. YA 9 &% U8 99 (0@, A. ) a0 wfirg Dogot fifgw | 6
23. Write short note on *Goods and Serviceg Tax’ in India. &
=% T FE % ST E S T st oy oty e | §

=+ Describe the diff;
€rent COMPONENts of gyrrent account in balance of payments. 6

32%(JF)
[100f12] (Y-2)



https://www.upboardonline.com/

(- )

(Long-Answer TyPe Questions)
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75.  Explain the ‘Law of Equi-Marginal Utility’ in the analysis of consumer’s equilibrium
OR

What do you understand by Demand ? Describe the determinants of Demand.

%, W % whreet’ & Fradl ) af samem St |
31
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2. Explain the ‘Laws of Return to Scale’ with diagram.

OR

Describe different concepts of National Income, in India.

10

10

10

10

10

10

10

10
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27. Describe the characteristics of ‘Perfectly competitive Market’. Explain the determination of

price in such market. 10

\

OR
Discuss the effect of upward shifting of pemand and Supply curve on equilibrium price

and quantity, 10
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